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A certain number of persons are sitting in a row facing to the north. There is one person sits between N 
and M and one of them sit at the extreme end of the row. There are three persons sit between N and C. L 
sits 2nd to the left of C. There are six persons sit between C and B, who sits 3rd from one of the end. B sits 
2nd to the left of R, who does not sit at the extreme end. There are four persons sit between O and N. 
More than three persons sit between M and O. There are two persons sit between K and R.

एक निश्चित संख्या में व्यश्तत उत्तर की ओर मुख करके एक पंश्तत में बैठे हैं। N और M के बीि एक व्यश्तत 
बैठा है और उिमें से एक पंश्तत के अंनतम छोर पर बैठा है। N और C के बीि तीि व्यश्तत बैठे हैं। L, C के 
बाएं से दसूरे स्थाि पर बैठा है। C और B के बीि छह व्यश्तत बैठे हैं, जो ककसी एक छोर से तीसरे स्थाि पर 
बैठा है। B, R के बाएं से दसूरे स्थाि पर बैठा है, जो अंनतम छोर पर िह ं बैठा है। O और N के बीि िार 
व्यश्तत बैठे हैं। M और O के बीि तीि से अधिक व्यश्तत बैठे हैं। K और R के बीि दो व्यश्तत बैठे हैं।
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A certain number of persons are sitting in a row facing to the north. There is one person 
sits between N and M and one of them sit at the extreme end of the row. There are 
three persons sit between N and C. L sits 2nd to the left of C. There are six persons sit 
between C and B, who sits 3rd from one of the end. B sits 2nd to the left of R, who does 
not sit at the extreme end. There are four persons sit between O and N. More than three 
persons sit between M and O. There are two persons sit between K and R.
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9.How many persons sit between R and C? 
R और C के मध्य ककतिे व्यश्तत बैठे हैं?
(a) None (b) Four (c) Six 
(d) Five (e) Seven

10.The number of persons sit to the left of L is same as 
the 
number of persons sit to the right of ___? 
L के बायें बैठे व्यश्ततयों की संख्या उतिी ह  है श्जतिी
व्यश्ततयों की संख्या _____ के दाईं ओर बैठती है?
(a) N (b) O (c) C (d) K (e) None of these

11.If T sits between B and R, then how many persons 
sit between T and K? 
यदद T, B और R के मध्य बैठा है, तो T और K के मध्य
ककतिे व्यश्तत बैठे हैं?
(a) None (b) One (c) Two 
(d) Three (e) None of these
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12.How many persons are sitting in the row? 
पंश्तत में ककतिे व्यश्तत बैठे हैं?
(a)12 (b) 15 (c) 18 
(d) 17 (e) 16 

13.What is the position of K with respect to B? 
B के सन्दर्भ में K का स्थाि तया है?
(a)Immediate to the right (b) 2nd to the left 
(c) Immediate to the left (d) 2nd to the right 
(e) 3rd to the left
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Point P is 8m west of point G. Point G is 16m east of point T. Point H is east of point E. 
Point E is 5m northwest of point L. Point A is 12m south of point F and point P is 
midpoint between them. Point L is 8m south of point S. Point H is midpoint between 
point L and S. Point T is 14m south of point E.
बबदं ुP, बबदं ुG के 8मी पश्चिम में है. बबदं ुG, बबदं ुT के 16मी पूर्भ में है. बबदं ुH, बबदं ुE 
के पूर्भ में है. बबदं ुE, बबदं ुL के 5मी उत्तर-पश्चिम में है. बबदं ुA, बबदं ुF के 12मी दक्षिण 
में है और बबदं ुP उिके बीि मध्यबबदं ुहै . बबदं ुL, बबदं ुS के 8मी दक्षिण में है। बबदं ुH, 
बबदं ुL और S के मध्य में है। बबदं ुT, बबदं ुE के 14मी दक्षिण में है।
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26.If Point B is west of point A and south of point S, then what is the distance between 
point A and point B? 
यदद बबदं ुB, बबदं ुA के पश्चिम में और बबदं ुS के दक्षिण में है, तो बबदं ुA और बबदं ुB के 
बीि की दरू  तया है?
(a) 13m (b) 7m (c) 6m (d) 5m (e) None of these

27.In which direction point L is with respect to point F? 
बबदं ुF के सन्दर्भ में बबदं ुL ककस ददशा में है?
(a) South (b) South-east (c) North-east (d) East (e) None of these 

28.What is the distance between point E and point H? 
बबदं ुE और बबदं ुH के बीि की दरू  तया है?
(a) 7m (b) 3m (c) 4m (d) 5m (e) None of these
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29.How many pairs of letters are there in the word “SPARKLE” which has as many letters 
between them as we have in the English alphabetical series (from both forward and 
backward direction)? 
शब्द "स्पाकभ ल" में अिरों के ऐसे ककतिे जोड ेहैं श्जिके बीि उतिे ह अिर हैं श्जतिे कक 
अगें्रजी र्णभमाला श्रंखला में (आगे और पीछे दोिों ददशाओं से) हैं?

(a)One 
(b) None 
(c) Two 
(d) Three 
(e) More than three
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30. Which of the following is second letter from the left end of the meaningful word formed 
by the 1st,3rd, 5th, and 6th letter of the word “DRAWER” If more than one word is formed 
mark X as your answer. If no such word is formed mark Y as your answer? 
निम्िललखखत में से कौि सा शब्द “DRAWER” के पहले, तीसरे, 5र्ें और छठे अिर से बिे 
अथभपूणभ शब्द के बाएं छोर से दसूरा अिर है यदद एक से अधिक शब्द बिते हैं तो X को अपिे 
उत्तर के रूप में धिश्नित करें। यदद ऐसा कोई शब्द िह ं बिता है तो Y को अपिा उत्तर दें?

(a)R 
(b) D 
(c) E 
(d) X 
(e) Y
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Seven friends A, B, C, D, E, F and G studied 
in colleges X, Y and Z and are currently in 
different professions, namely Medicines, 
Fashion Designing, Engineering, Business, 
Acting, Teaching and Architecture (not 
necessarily in the same order). At least two 
and not more than three friends had 
studied in the same college. C is an architect 
and studied in college Y. E is not a 
businessman. Only G amongst the seven 
friends studied in college X along with E. F is 
an engineer and did not study in college Y. B 
is an actor and did not study in the same 
college as F. A did not study in college Z. 
Those who studied in college X are neither 
Fashion Designers nor teachers. None of 
those who studied in college Y is a teacher. 

सात दोस्त A, B, C, D, E, F और G कॉलेज X, Y और
Z में पढ़ते हैं और र्तभमाि में वर्लर्न्ि व्यर्सायों में
हैं, जैसे कक मेडिलसि, फैशि डिजाइनिगं, 
इंजीनियररगं, बबजिेस, एश्तटंग, ट धिगं और
आककभ टेतिर (जरूर िह ं कक र्ह आज्ञा)। एक ह 
कॉलेज में कम से कम दो और तीि से ज्यादा दोस्त
िह ं पढ़ते थे। C एक र्ास्तुकार है और कॉलेज Y में
पढ़ता है। E एक व्यर्सायी िह ं है। E के साथ कॉलेज
X में पढ़िे र्ाले सात दोस्तों में से केर्ल G। F एक
इंजीनियर है और कॉलेज Y में िह ं पढ़ता है। B एक
अलर्िेता है और F के समाि कॉलेज में िह ं पढ़ता
है। A कॉलेज Z में िह ं पढ़ता है। जो कॉलेज X में
पढ़ते हैं, रे् ि तो फैशि डिजाइिर हैं और ि ह 
लशिक हैं। उिमें से कोई र्ी जो कॉलेज Y में पढ़ता
है, लशिक िह ं है।
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Seven friends A, B, C, D, E, F and G studied in 
colleges X, Y and Z and are currently in 
different professions, namely Medicines, 
Fashion Designing, Engineering, Business, 
Acting, Teaching and Architecture (not 
necessarily in the same order). At least two 
and not more than three friends had studied 
in the same college. C is an architect and 
studied in college Y. E is not a businessman. 
Only G amongst the seven friends studied in 
college X along with E. F is an engineer and did 
not study in college Y. B is an actor and did not 
study in the same college as F. A did not study 
in college Z. Those who studied in college X 
are neither Fashion Designers nor teachers. 
None of those who studied in college Y is a 
teacher. 
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Who amongst the following have studied in college Z? 
(a) B, A (b) C, F (c) B, D, F (d) A, D (e) D, F

Which of the following groups represents the students of 
college Y ? (a) C, E, G (b) A, C, D (c) A, B, C (d) D, B, C (e) None 
of these 

What is the profession of F ? 
(a) Engineering (b) Business (c) Medicines (d) Acting (e) None of 
these

Who amongst the following is in the profession of 
Medicine? 
(a) E (b) G (c) A (d) D (e) None of these

What is the profession of A? 
(a) Teaching (b) Medicine (c) Business (d) Fashion 
Designing (e) None of these
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(1) If statement I alone is sufficient but statement II alone is not sufficient.

(2) If statement II alone is sufficient but statement I alone is not sufficient.

(3) If each statement alone (either I or II) is sufficient.

(4) If even statement I and II together are not sufficient.

(5) If both statement together are sufficient, but neither statement alone is sufficient.

(1) यदि कथन I अकेले पययाप्त है, लेदकन कथन II अकेले पययाप्त नहीं है। 

(2) यदि कथन II अकेले पययाप्त है, लेदकन कथन I अकेले पययाप्त नहीं है।

(3) यदि कथन अकेले (यय I तो यय तो II) पययाप्त है।

(4) यदि िोनों कथन I और II एक सयथ पययाप्त नहीं हैं। 

(5) यदि िोनों कथन एक सयथ पययाप्त हैं, लेदकन कोई कथन अकेले पययाप्त नहीं है।
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Is it 9 o'clock now?

I. After half an hour, the minute and the hour hands of the 
clock will make an angle of exactly 90° with each other. 

II. Exactly 15 minutes ago, the hour and the minute hands of 
the clock coincided with each other

अर्ी िौ बजे हैं?

I. आिे घंटे के बाद, घडी की लमिट और घंटे की सूइयां एक दसूरे से
ठीक 90° का कोण बिाएंगी।

द्वर्तीय. ठीक 15  लमिट पहले, घडी की घण्टे और लमिट की
सूइयााँ आपस में मेल खाती थीं
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Which bag amongst P, Q, R, S and T is the heaviest?

I. Bag Q is heavier than R and S. Bag T is heavier than only bag P. 

II. Only three bags are lighter than R. The weight of bag Q is 50 kg, which is 2 kg more than 
bag R.

P, Q, R, S और T में से कौि सा बैग सबसे र्ार है?

बैग Q, R और S से र्ार है। बैग T, केर्ल बैग P से र्ार है।

द्वर्तीय. R से केर्ल तीि बैग हल्के हैं। बैग Q का र्जि 50 ककग्रा है, जो बैग R से 2 ककग्रा अधिक है।
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How is M related to N ? 
I. P, who has only two kids, M & N, is the mother-in-law of Q, who is sister-in-law of N. 
II. R, the sister-in-law of M, is the daughter-in-law of S, who has only two kids, M & N

M, N से ककस प्रकार सबंंधित है?
1. P, श्जसके केर्ल दो बच्िे हैं, M और N, Q की सास है, जो N की लसस्टर-इि-लॉ है।
2. R, M की लसस्टर-इि-लॉ, S की बहू है, श्जसके केर्ल दो बच्िे हैं, M & N
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What is the code for ‘mangoes’ in a code language ? 
I. In that code language ‘Te Le Pa Na’ means ‘You eat many mangoes’ and ‘Le Na Da’ means 

‘You sell mangoes’. 
II. In the code language ‘Ge Na Se La Le’ means ‘They eat bananas and mangoes’ and ‘Ne De 

Le La’ means ‘Who others eat bananas’

एक कूट र्ाषा में 'आम' के ललए कूट तया है?
1.उस कोि र्ाषा में 'ते ले पा िा' का अथभ है 'आप कई आम खाते हैं' और 'ले िा दा' का अथभ है 'आप आम
बेिते हैं’।
2. कूट र्ाषा में 'Ge Na Se La Le' का अथभ है 'रे् केले और आम खाते हैं' और 'Ne De Le La' का अथभ है
'दसूरों को केला कौि खाता है'
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(i) ‘P × Q’ means ‘P is brother of Q’. 
(ii) ‘P – Q’ means ‘P is sister of Q’. 
(iii) ‘P + Q’ means ‘P is father of Q’. 
(iv) ‘P ÷ Q’ means ‘P is mother of Q’. 

Which of the following represents ‘M is nephew of N’ ? 
(a) N – K + M (b) N × K ¸ M (c) N ¸ K × M (d) N – K + M ×
T (e) None of these

How is T related to D in the expression : H + T ¸ R – D? 
(a) Nephew (b) Niece (c) Nephew or Niece (d) Data 
inadequate (e) None of these

Which of the following represents F is daughter of W ? 
(a) W ¸ R + F (b) W × R × F (c) W + R × F – T (d) W + R – F 
+ T (e) None of these
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Which of the following symbols should replace question mark (?) in the given 
expression in order to make the expressions ‘ 
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